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The Father’s Pleasure to Crush the Son 
Isaiah 53:10-12 
 
I. The Father is pleased to crush the Son 

because their eternal plan prospers (v. 10). 
 

A. The Pleasure of the Father – A Crushing Pain 
 

B. The Plan of the Father – A Conditional 
Prospering  

 
1. The Condition 

 
2. The Outcome 

 
 
II. The Son is pleased to be crushed because His 

Father’s wrath is satisfied (v. 11). 
 
 

A. There is the satisfaction in His labor (v. 11a). 
 

B. There is infinite worth in the results of His 
labor (v. 11b) 

 
1. Person of the labor. 
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2. Action of labor. 

 
3. Description of labor. 

 
III. The Father is pleased to crush the Son 

because through it He will exalt Him (v. 12). 
 

A. The Exalted Position of Victor (v. 12a) 
 
 

B. The Exalted Position of Savior (v. 12b) 
 

 
 


